countrics (Assuming that the total runs scored faeT® @ T @ @ e faa wfaere
by the batsman in T20 remains the same (that (%)&?
is 2000))?

(a) 71% (b) 75%

afg aootarsr 1 & 20 = ¥ e & 73K s
Fi % %T%ﬁ?;ﬂ*ﬁmﬁﬁ UGC NTA NET JRF June 2020 (17 Oct.) Shift-1I
uﬁv:mﬁmfzzmﬁﬁ“;gﬁg Ans. (c) : A0 G ALIET & (G 21,20 i A
& T g @ T g W A (vt | [T % x 2000 = 360

2000 ) & §)? T 2 AT % faers sidand. A 6 e
(@) 88%  (b)84% (o) 86% (d)90% ) 7.5
UGC NTA NET JRF June 2020 (17 Oct.) Shift-11 | [T & = * 2800 =490
Ans. (¢) : feam T é, 360 "
e T R & faers F-20 S4i § @ w w| | [T T S = x 100 = 7346 = 73%
= 280 I o Question Nos. (102 to ll}6):
3: TS R WY 9 & faens 920 W9 § T The table below embodies data on the number of
T = 2000 -280 = 1720 candidales who appeared for an interview (I) and got
1720 admission (A) in five engineering disciplines during the
. anfig sfavm = * 100 = 86% year 2014 to 2019. In accordance with the table, answer
2000 A
the questions 1-3; 7~ N\
101. The runs scored by the batsman against West [frer &t wd aferar & ad 2014 ¥ 2019 & d=

l:nlies in T20 are upprnlimal_ely what percent| oprifral & ier fral (&) ¥ WaTET & fre

\ E)f;)]l?ul' the runs scored against Australia in & = . F e e Y

\ Footars g & 20 T O FRESW & T wefte ariweg fau o §) wfre & sEEm,
// TAm o W oadnnd d= A afeferan & (102-106 % IR Sif: %ﬁ A\

Year wise number of candidates in different engineering dwrlplllwsa’/
farfirs srfraifret fradi (81 ) & @ au-am qE: ————,‘22"\3

<
Engincering \/Chemu:al! Civil!f‘hf&ﬂ Acrospaccf | Petrolcurr_/d, ,I Electrical/ ] /"g
Discipline/ T az'-:"?-'{ﬂﬂ gﬁlazaﬁa
A L

T T O (ok

Year/@d 'u (A) i

2014 v/ ~— |’ 1274 1090 § 2108 | 2068 1180 1140 9610 935 1216 1194

2015 v/ ot 1165 | 1065 | 2050 | 1980% | 1260 | 1180 | 1004 | 985 (| 1132 [( 112

[2016W, ——— | 1108 | 1024 [ 1860 | 1815yf| 1132 | 1040 | 870 | 855 [[1260 246

2017 1230 1180 1996 1948 160 980 1094 1070 1191 1170

2018 1492 | 1372 [} 2530 | 2500 1465 1425 | 1160 | 1040 |]1242 1222

2019 082 930 3488 | 3448 1640 1590 | 1020 1010 1362 1342

——

102. What is the difference between the total| 03, What is the percentage increase/decrease in the
number of candidates who appeared for an number of candidates admitted in Civil
interview over the six years in Aerospace and Enginecring dlmpllne from thé'year 2015 to 20167

\/ A qrEer = A

V ifrafin fawdi § W 3 SURE §U Wﬁmﬁﬂlﬂlsaﬁwﬂﬂ
srafiat &t e e & dra atew = §? 2016 7 oo wierera @t gl /@t g37

(a) 334 (b) 6l ()66  (d)344 (@) 9.09% (0) 8433
UGC NTA NET JRF Junc 2020 (17 Oct.) Shift-1 *f} ?‘-’:3"“(, o () 9.19% .
) % TS o e T UGC NTA NET JRF June 2020 (17 Oct.) Shift-1

URIEHR 7 IR U il & g §Em = 1180 + qgs.{gl:aﬁzglsqmﬁamﬁuﬁnmqm-'
1260 + 1132 + 1060 + 1465 + 1640 = 7737 Wﬂfﬁﬂfﬂfﬁﬂﬁ_@’ﬂﬂ%ﬂ{ o
o Nl & WA sefagEa st e § awre gg| [T 2006 # Rifaw SR fawa A - ard
Iuftafn gu aremfdat =1 3@ T@m = 1216 + 1132 + vl & W = 1815

1260 + 1191 + 1242 + 1362 = 7403 I 9 3wg af 2015 § 2016 F e ol faw 3]
W, Y 3R = 7737 - 7403 £ 334 aftgen o A e S § 3 Re @ el
NTA UGC FIRST PAPER PLANNER 384 YCT
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D

d: AT FH = 1980 - 1815 =

E| nﬁramf_gﬁ % 100=8.33%
1980 =

104. What is the percentage of the total number of
candidates admitted to the total number of
candidates interviewed for all the years in
Chemical Engineering damplme"

\/ Fftrer $fifraftn faaa 7w adt & o=
YT ¥ IUfRE gu snanddt @t Fe
HET @ e § 38 rary & I afeer
AT Il @ gt WA ST YT faA &7
'S,P (a) 8.1% (b) 91.68%
(c) 8.8% (d) 91.86%
UGC NTA NET JRF June 2020 (17 Oct.) Shift-I
Ans. (d) : ™ 81 § Hfawa $ifERn faeg § R
7 3ufean arefd & g €@ = 1274 + 1165 + 1108
+1230 + 1492 + 982 =7251 ~
wh w4l § Fvwa Sk fag | afew @9 9w
wenfdEi @1 FE §EE = 1090 + 1065 + 1024 +1180 +
1372 + 930 =6661

A A9E wfvE = 6esl 100 =91.86%
¢ 125l —
105. What is the average number of candidates who
appeared for an interview in the year 2016 for
'L“\l a sadmission to all the five engineering

disciplines? SN
sifirgifaat & mft vt fwar o
—*

w2016
/,\,_ n

TV 3] TN ¥R o TeTq Sufea §U sneatert
@ afaa T e &2
(a) 1216 (b) 1314
(c) 1316 (d) 1246
UGC NTA NET JRF June 2020 (17 Oct.) Shift-1

oM. =
2 - £ = Pr

106. The ratio of number of candidates who
appeared in an interview for admission to
Petroleum Engincering discipline in the year
2014 compared to the number of candidates
who got admission in Electrical Engineering
discipline in the year 2015, is:

et 2014 F Teiferaw $fifrafin fawa ¥ afaen

¥ WA o fovg TR AN Ao s

= T war ad 2015 ¥ sAfEgEe et

fram § ifgen @1 aret sranRfat @ dEn &

e T st §7 v

@3:5 — (b) 6:7

(c) 7:6 (d) 5:3

UGC NTA NET JRF June 2020 (17 Oct.) Shift-I
Ans. (b) : TIeEN FSfAafn faea 6 ad 2014 7
e @7 Iuftafa arenidEl i g e = 960
geifagaa gttt fama § ad 2015 & =feen = g9
il 41 @@ = 1120
3: 3 3 = 960:1120€6:7 | v/
EELQ07-111): Prefafes wifee w fem S,
W T wherEntt un i @ when 3 oRord @ A
aet ¥, Foradl snaidat st iferaryme, T e,
nﬁmaﬁrwﬁmﬁ?mwmmahﬂm
Fﬁﬂ§|wmﬁﬁﬁﬁemmﬁmﬁmm
3T W G aTel faaTidal @t g & WaW 19U Ty
T | &1 Sameond ( 81-100) = > 81 3w < 100 & w9 F

aimt & faEn £ @ et &
AT TT WAt & I S
Comprehension:

Direction (107-111): Consider the following table that
presents (he results of competitive MCQ examination

Ans. (1) : @ 2016 ¥ st & @it o= fawd A [ where candidates were tested in their knowledge of
TR 3@ Juftqa sretiiai o Fd #EAT = I[UB +| | Physics, Chemistry, Mathematics and Computer Science.
1860 + 1132 + 870 +1260 = 6230~ The table contains the data of the number of candidates
sifiaifaat & wf fawdi & @@ S &) securing marks within the specified range of marks. For
— cxample (81-100) specifies the range of marks as > 81
w: ey s @ 820 L1046 and < 100,
ey O
Marks wise Distribution of Canditiates /3/&ar arefdat @ faavo
Subject/faaa Total | 81-100 | 71-82 | 61-60 | 51-60 | 41-50 | 31-40 | 21-30 | 11-20 | 0-10
Marks —_ | -
A I‘h}‘sitm‘lﬁﬁﬁi 100 0 1 4 85 730 4205 | 10885 | 9170 | 1920
m  o—
\/ Chemistry/ATEA 100 2 5 875 3350 | 6775 | 7778 | 5065 | 1800 | 1350
e —
Mathematics/ T /| 100 0 0 || 6 199 | | 3400 | 15045 | 6975 | 1375
Compater Science 50 0 0 0 220 | 2145 | 10140 | 11858 | 2637
et fagm —T
NTA UGC FIRST PAPER PLANNER 385 s YCT
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vd

If securing over 60% marks is the qualifying
criteria for each of the three subjects of
Physics, Chemistry and Mathematics then the
number of candidates who have qualified in all

three subjects.
, TaTa= yme afrr wfvre & =

fradi ¥ werss foea ¥ ardar @t SR 60%
T T WErew § | 37 1t T Rt F e

107,

wTE Pt dET —_—
() O (b) 90
() 6 d) 5 &

UGC NTA NET JRF June 2020 (1 Oct.) Shift-11
Ans. (a) : TirEwrE o 60 wlavm ¥ afas siw A
TR ATA TH FHE =4+1=5
TETIE | 60% T Wuw 3% 166 533 aren et
&N =875+5+2 =882 ./
nfia 1 60 sfava § afus 3 e =9 g ed 3
= =0
nﬁmmmﬁmmmﬁmmﬁvﬁm
Eélm a=i fowdi ¥ s fEwa 6 60
g i 3w ofele & o= om & Tem

‘{IFJ?' v

108. If securing oveg 40%) marks is the qualifying
criteria for each suBject, then the ratio of the
numbher of candidates who qualify

Mathematics as compared to those who qualify
in Computer science is.

ofe uaw faaa o e gt T 40% am
W & § o et H atgar

ATl el AT § 0T 0 3tger mﬁ
srvaTfal s wEd @ IaT @ 2

(a) 15:42 (b) 1:2

(c) 56:1 (d) 1:6

UGC NTA NET JRF June 2020 (1 Oct.) Shifi-II
Ans. (d) : A T 40 Wfavm ¥ s 3iF wa 6 I
DA =199+6=205

40 wfoym 4 e ofF W@ F@ T9 o7 =

&
i 10140 ) 21454220 = 12505

A faed § 8 40 WETw § s ofF Wi & 9

N

O 3 ST
o # 40% B Ao 3iF W@ A A on
" i 40% A 3% G ST aTer
_205 _1. .,
12505 61

54 R andie 39 =1 : 61
109. Assuming that no cnadidates were absent.
What is the total number of candidates who
appeared for the examination?
e, &g oft sreff arquftae = av @ =
anafdal @ @ g adgu, W ufar #

(a) 50000 ¥ = (b) 25635
(c) 26973 (d) 27000
UGC NTA NET JRF June 2020 (1 Oct.) Shift-II

Ans, (d) ; IFF #1¢ A snedf T o faeg 9 ofen §
yqfeafn 7€ @1 ufed v fawm @ wien o sfinfm
sl 5 e € Fa g e

a: ofimeme 4 Fm aredi = 1920 + 9170 + 10885 +
4205+ 730 + 85+ 4 + | = 27000

T VAR T weiddl # SEn 27000 )

110, If securing over 60% marks is the qualifving
criteria for the suhject of Computer science
then what is the approximate percentage of
qualified candidates in the subject of computer

science (Assume there is no absentees)?

ofy wvgey fagm & fad srdar ot e 60
wfaya ¥ T & yarw § A wmpEy R o
aréar g st @ eran whra Rear §

(@ v g o @i rgafiaa =i o)
{a) 12.65% (b) 8.76%
(c) 8.65% (d) 0%

UGC NTA NET JRF June 2020 (1 Oct.) Shift-I1
Ans. (b) : T T 60 YATR T 3fUF F WA &
T sTadf = 2145 + 220 = 2365
FO % Fuftam T4 ardf = 2637 + 11858 + 10140 +
2145+ 220=27000
H: FEGEX § ar oa syeafdal s sfem
_ 2365
27000
=8.759
=8.76
What is the ratio of the total number of
candidate who scored more than 50 marks in
Physics to those who scored more than 40
marks in Mathematics?

T ® 40 ¥ 3w s are anatdai @
T # difeememea o 50 @ srits yrwis are

x100

srafiial @t gt et @ a4 §?
(a) 17:49 (b) 18:41
(c) 43:61 (d) 85:199

UGC NTA NET JRF June 2020 (1 Oct.) Shift-TT

Ans. (b) : VAR | 50 ¥ AfGS 3H A5 S adl
gl =85 +4+ 1=90
nfor § 40 | fus 3w H#6E F aet aradi = 199 +
6 =205
S
it 7 # 50 F 31f of M S Acton 31w

ffora # 40 W 3R 31 W FH adon 3 §E

90 18

=——=—=18:4|
205 41

The table below embodies data on the oil import (in
million tonnes) from six different countries over the
years 2015 to 2019. In accordance with the table,

wftafer gu?

answer the questions 112-15,
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ZN\

Year-wise oil import from countrics (in million tonnes) 114. What is the approximate average of percentage
E:H“:‘“"" :;'r':"h;’ Irn | Iraq | Nigeria | Kowsit | Vencracla increase or decrease in oil import from Kuwait
over its previous yvear for the given period?

v 2015 788 | 205 | 158 | 16| 139 | 72 & ¥ smafty & forg Fde | @ sma § froe
2016 299 [ 21.8 | 144 [ 105 148 | 7.6 wETad gfava afy o w .
2017 272 [ 212] 150 [ 132 T EE ud & ! e
2018 2714 | s [ 172|189 [ 115 | 103 dAma w2
2019 326 | 17.5 | 246 | 142 178 | 9.6 (a) 4% (b) 5%

et 21 T3 Arfete § @9 2015 @ 2019 W OF CNT- (©) 15% ) 21%

T AN W A I F 3viens (Ffrmm = #) Ry UGC NTA NET JRF June 2020 (9 Oct.) Shift-II
o &) Arferent & AR, wvA . 112 W 115 F I E: | [Ans((d) )

29N | ad-an det SNATA (a2 | ) ﬁ| ad /291 | o [gfg /et qfEv% / 0%
wm#{% Faa| aquen | [ 2005 [139

— e
a7 2016 |148] 09
af sl v T Y v >_J P x100-647%

i~ 2015 | 28.8 |20.5|158] 116 J13.9| 72 2017 | 11.8 3.0 3.0 —
2016_[29.9 [21.8[14.4]_10.5 | 148] 7.6 Tag |00=2027%
20017 27.2121.2 15.0 13.2 11.8 7.3 2018 11.5 03 0.3
2018 |27.4 |18.5(17.2 15.9 11.5 10.3 —x100 =2.54%
2019 [32.6 175246 142 [17.8] 96 _ 113
112. What is the ratio of average of oil imports from 2019 | 178 6.3 ﬂx 100 = 54.78%
Iraq to that from Venezuela for all the years 11.5 St
together? F9A A Aa AW § [gd a4 & qEEA qava gia a@

\/ Eﬁm m‘;‘%ﬁzﬁ Emﬂ%ﬁ?ﬁml w" T & A = 6.47+20.27+2.54+54.78

s F g = 84.06%
(a) 14:29 (b) 29;|4\/ am:ahﬂ'eaﬂm=g4'°6=2|.mzznfa
(c) 39:23 (d) 23:39 4
UGC NTA NET JRF June 2020 (9 Oct.) Shift-IT | 115. 1T P and Q are the average oil import from all
Ans. (b) : @l @l & feru $U% © dw AW the countries in the year 2019 and 2017
= |5.8+14.4+15.0+17.2+24.6 respectively, the P-Q is approximately eqllnl to:
=870 .,( afg p 3w Q wawr: ad 2019 3fw 2017 & Wi
it @il & fer S @ e S 5\, it & e amEE & ofvaw €, A p-Q T

7
=7.2+7.6+7.3+10349.6 \/\ a foras amET E 2

=420 ;3 (a) 3.43 million tonnes/3.43 fifer 23

3: SNE S = f; : Tf: v /é (b) 3.34 million tonnes/3 34 fafera z
—— (c) 2.43 million tonnes/2.43 fiferad 2

113. What is the approximate percentage of oil g . foforas
import from Iran in the year 2017 with respect (d) 2.34 million tonnes/2.34 &

to the total oil import from Iran in all the years UGC NTA NET JRF June 2020 (9 Oct.) Shift-11
N together>/ad 2017 # 309 & 99 IV FF | |Ans. (d) : T4 2019 7 o Z90 7 @9 3=\

firerat wvft @@ W S R Tor aor A @ =32.6+17.5+24.6+14.2+17.8.49.6

T R wiev £ 7 =116.3 ffersm z=

(a) 20% — (b) 23% 116.3

(c) 21% (d) 25% P = —===19.38 R A

UGC NTA NET JRF June 2020 (9 Oct.) Shift-11
Ans. (¢) : 379 ¥ Fa1 7 AW
=20.5+21.8+21.2+18.5+17.5

aq 2017 § of 2vi 9 &9 3mEm
=27.2421.2+15.0+13.2+11.8+7.3

=995 =95.7 fafergm 3
ﬂzﬂl?ﬁmﬁﬁﬂm=2l.2 ._.Q:E:ISBS faferaa ==
=d: Spie s =%""}“ i p_f5= 19.38 - 15.95
=21.30 = 21% (™) =143 fafqmm =3
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116. In which of the following years the percentage
increase/decrease in oil import from Nigera
over its prc\inus year is the maximum?

frafafes 7 @ forg od & 4= fres af =
qoan # Tgehifar @ dw smaa ® wihea

2019 | 142 1.7

ixl[}{l=10.69%
15.9

m:aﬁzol?mﬂmmaﬁﬂwﬁm
sfowm 9fz @

gl adt waifue W 2 ‘ The table below provides data of the number
(a) 2016 (b) 2018 of candidates who appeared (A) and qualified
(c) 2017 (d) 2019 (Q) in a test during the years from 2014 to 2019
UGC NTA NET JRF June 2020 (9 Oct.) Shift-11 from five different zones J, K, L, M, and N. In
Ans. (¢): accordance with the table, answer the questions
F/2W | g | grasa o gTa YoM 117-121;
2015 | 116 oter fafir=r &t 7mm: J, K, L, M 3ft N & ad
2016 [105| 1. L1 . 2014 ® 2019 &% d foreht wftan o 4= At
11 00 =245% @mu’mmwm_;mfﬁu’raﬁﬁw
2007 | 1321 2.7 27 : Haft afewe oy aferdr § Iuerer €)1 anferenT
Tog - W=2311% & AR, WA (117-121) & I &:
2018 | 15.9 2.7 97 Year— Wise Number of Candidates from Different
I?,xluo:zu.ds% Zones/fafer g & araiiat & a9 an wEn:
N y
Zone/ J K L M N
i O] = BT v/
ri . Y «
A Q A Q I :\) Q A lO) A Q
Year/ad | = | \V I -z M
4 — 1V /
A 2014 < |320]250 (350 [140 ]380 |[220|420_]240 | 620 | 360
- | 2015 460 | 340 [ 690 [ 420 | 690 | 440 | 740 =, 620 | 480 [D
2016 .\/ 650 | 490 [ 770_ | 450 | 590 | 480 | 830 560 J 640 | 420
(FzoT79— | 740 [ 570 [[540 || 340 | 720 [ 320 [ 930 640 | 780 | 620 —
2018 880 | 480 | 660 | 520 | 860 | 680 | 11404 520 | 990 | 690
2019 920 | 560 | 1060 | 640 | 1030 7-:1‘.']“ 14204 1140 | 1180 | 940
[17. The difference between the number of || 3 & T s@fd & M-43 & vl # da7 @ @

candidates who appeared and qualified in the
test from Zone-M in the given period was the
scecond lowest in the vear:

& arafir § M &7 ¥ oftan ¥ &3 are v
Ty Uy MU il st e & g e 3t

Tl | ERT WA AN o
(a) 2014 ~— (b) 20167
(c) 2017 (d) 2019

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1

Ans. (b) : Tft T & - M & ferg @ T € -
ad araafifat @t g | wdien o dea At
often 7 | ang g | vedf war O
dam| = T AT At
anreff | amaeff a:wﬁiﬁmrmr‘
2014 | 420 240 420-240 = 180V
2015 | 740 330 740-330= 410
2016 | 830 560 830- 560=> 270+
2017 | 930 640 930-640= 290
2018 | 1140 520 1140-520= 620
2019 | 1420 1140 1420- 1140 = 280

g O T areiddl @ W & de W i

2016 # U TAR A A11

118. The number of candidates who appeared in the
test from Zone-K in the year 2017 was

approximately what percentage of the number
of candidates whn_q&ﬁﬁﬁl the test fromrtive

Zone =L in thieVear 2019,

g 2 A viar ¥ d=3 T
arfdat & den ad 2019 F QHL%WQ‘/
U A rArdat st HEE & T wiaen &7

(a) 88% (b) 839, T —

(c) 73% (d) 68%

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1

Ans. (¢) : @% 2017 ® &9-K ° ofen # d24 4
sreqfdEi &t den - 540, a4 2019 4 &6 L & gy g
™ d4ai @l wEn 740 3w wfawm-

=—xl{]{]
740 —_—

, = 72.97% = 73% (¥ /
lly\\'hal was the averape nﬁmher of candidates

who appeared in the test from Zone -N over all
the years together?
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P

/

AT WO H 11-:\‘ g ﬁg?-ﬂ'lﬂ aitam 7 Study the data in the given table and answer
ST aret vt & 3| JEE oft? the question that follow
. S— News News | News | News News
(o) S_IIO () B3 Paper Paper | Paper | Paper Paper
(0} 7 (dy 805 ciy | A B C D
UGC NTA NET JRF June 2020 (9 Oct.) Shift-1 Dcll.n‘ 000 1750 3_}0' 350
Ans. (d) : T 51 5 8 N ¥ i 3 357 w0 SRl 7 now [so0 [ 250 [2s0 |17
A oo S Varanasi | 200 150 165 155
= 620 + 620 + 640 + 780+ 990 + 1180 Jaipur 200 350 135 160

FAa FWISM=6
: _4830 _
wa: andte sfwm = - _805\/

120. The ratio of the number of candidates who
appeared in the test from the Zone-J in the
vear 2014 to the number of candidates who

qualificd the test from the Zone-M in the year
2016: /~ A .
ad 2014 ¥ J 8 ¥ vitan ¥ &3 @t anaidar

@t dE @ AU @ 2016 ¥ M &= & i

\{

() 4:7 (b) 4:9

(c) 9:4 (d) 8:13

UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans. (a) : @4 2014 § )27 9 qlen 1§ ds4 9 st
# dE = 320
aﬁzowﬁm-&hﬁﬂmmwmﬁﬁaﬁtm

= 560
sdp 4 ?/

3A: InfTE 3 = 3240 :

121. The total number of candidates who qualified
the test in the vear 2018 and 2019 together was
the second highest in the zone :

ad 2018 3 2019 & foq u @ whem o

ara Ma_mfﬁ‘d‘f = e dE e f
TaT wad arfeaw ar?
(a) ] = (MmN
(© K d L
UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans. (b): £~
& grawa T B anT
amarfear i wE
= 2018 T |7 2019 § \/
T [490 7 | 560 ~7 | 480+560 = 1040 |
K |520 640 5204640 = 1160
L [e80 740 6804740 = 1420
M [ 520 1140 52041140 =T660
N | 690 940 6904940 = 1630

3M: A% 2018 T 2019 & (a0 W= WY Giem o
mmqrrqamﬁmaﬂgﬂm%ar{u{m
Tad sy 81

Ty Tu st @t Hen 3 geer ¥ am

Prafefiga miferer o fiee @\ ad & @R
iy W it @t g (Ve e @gs
feam wan & ) wan fafirw wiedd o famfta favg g
WATEAUAT & 4@ ot W §1 AT &
MU UT Y= 122 ¥ 126 & 30T o0

"OER | ==
A B @ D
TN (2000920009 (1000 (1000) r_,\!}"“
f= | 1000 | 750 | 320 [250 | Se\?
s | 500 | 250 | 250 | 175
ampri | 200 | 150 | 165 | 155
TR 200 | 350 | 135 | 160
122. In which city the distribution of paper is
minimum?
frefefige wferat § |/ faw yrgt # o= wsl
wt wieat =gAaw w@ea | faafia o wd §:
(a) Jaipur/srAqL {b) Lucknow/d@d%
(¢) Delhi/fewedt (d) Varanasi/aRIum
UGC NTA NET JRF June 2020 (5 Nov.) Shift-11
Ans. (d) :
S| | | | T
- A B C D
faweft | 1000 | 750 | 320 | 250 | 2320 ‘/
@aa% | 500 [ 250 | 250 [ 175 | 175N/
aroret | 200 | 150 | 165 155 [ 670)v/
A | 200 | 350 | 135 | 160 75 |
3 AN e HAER T & wfat mjﬂq T 1
faafea it mh €

123, What 1is the percentage of distributed

newspapers compared to printed newspaper?
A WuTe UAl @ gl @t g @ qeen
o faafta & 78 wumem w= @t wiear @i demn

T Wiy = 2 \Z

(a) 83.5% (b) 84.0%
(c) 82.0% (d) 82.5%
UGC NTA NET JRF June 2020 (5 Nov.) Shift-11
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Ans. (a) : T AfeT oo w5 & sfodi @ den
=> 2000 + 2000 + 1000 + 1000
= 6000V

T faaftd FuER W@ 3 sfad @ F@mn
= 2320+ 1175+ 670 + 845

|:>SU[U\/
10

Im: e wfie = — %100 e B o\ g

T
= 83.5%

124. What is the percentage of distribution of
newspaper C in all the cities as compared to
total number of newspapers distributed?

wift vl & faafta o ¢ wwemw wE St

(a) 5:6 (b) 51:60
(c) 167:200 (d) 52:61
UGC NTA NET JRF June 2020 (5 Nov.) Shift-11
Ans.(c):&a‘ﬂﬁﬁﬁﬂmm
= 2320+1175+670+845
= 5010
= 2000+2000+1000+1000
= 6000
= 5010:6000
m——
= 167:200

Questions Nos, Comprehension (127-131)
Consider the table given below and answer the
questions that follow-

Fd Tfad FAER @

37: 3INiTE ST

;rﬁmahgmﬁmaﬂ@ﬁww C | yv= @ - (127-131)
& @ faaft @ T ghEl @ OFA T | e i T e w0 U I W M
yfeva == &7 G\ | o TR E-
(a) 1646% (b) 17.36% Publishin | Numberof | Ratioof | Percentage Neof
[E) 18.42% {d} 16.36% g louse Fﬂb‘r?‘l;:d Ar;d.:mk nr:rigllm.nh:d Ili;lrlll:z:r:-‘h
UGC NTA NET JRF June 2020 (5 Nov.) Shift-1 || "o | Somme | Ragemic | femitn Howe
Ans. (b) : F9rER @& C 71 faRa W sfadi < Je qasiEy | Books qawi s | VO TR
2\ e %ﬁm g V- # ferareni
=> 320+ 250 + 165 +135 — b =t wEn
=870 mwrt_ﬁ: ™
Ak \¢)
T faaft samar o @ dem Y, /’ \ s \ .
= 2320 +1175+ 670+ 845 VAL 28200 7:3 81 17
= 5010 «~/ B 32200 5:9 74 23
870 C 29700 6:5 92 18
a: e s = T /D 31200 8:5 86
17.36 % E _|-33800 7:6 (L78) 26
= 113074 F 35700 11:6 82
125. What is the ratio of distribution of Newspaper G 37800 5.13 89 24

A to newspaper B?
WHTER A &1 Taafta i 78 gfear @ g sl
W B @ faafia @t e wfaat &t dem @

anﬂm%? \
(@) 16:15 (b) 7:5 (=
(e) 19:15 (dy 17:15

UGC NTA NET JRF June 2020 (5 Nov.) Shift-11
Ans. () : TUER T A & faafts & ¢ sl & d=
= 1000+500+200+200

= 1900
HoeER @ B &) faafE & w8 sfadi & den

= 750+250+150+350

127. What is the difference between the number of
academic books published by publishing houses

A and D?
Ta&H T8 A R D g v sraeitE
e S W R e ? T
(a) 450 {by 504
(c) 540 (d) 604
UGC NTA NET JRF June 2020 (13 Nov.) Shift-1
Ans. (c) : A 310 NIV Srefis g & dem =

7

§

x 28200 = 19740

D 3R S SR gEal @ wen
8

$.”l

A
"

= 1500 NE B =« 31200 = 19200
o anfie aTE = 1900 1500— .
12?; 3i: STHIE A= = 19740 - 19200 = 540 \/
= 128. Ilow many books were given to each
126. What is the ratio ¢f total distributed paper to distributor by publisher E, if each distributor
total newspaper pri 3 - gets equal number of books?
FUTAW Al @ faita @ wg wladi @ e ol yw faee @t wne '@ § g
e i gw &t ¥ gor wfhdl @t der @ fierdt £ W wRw fame @ gEwe E g
s @t foret gees & T off? p—
NTA UGC First Paper Planner Volume-1 . 390 YCT
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(a) 1024 (b) 1014
(c) 986 (d) 962
UGC NTA NET JRF June 2020 (13 Nov,) Shift-1

Ans, (b) : E z0 faaf@ q@sl 31 @@= = 33800 x
7 v
100

= 26,364

T famai 9 e = 26
o wf foaeel 2 faafin g € v —

= 1014

129. What is the average number of non-academic
book published by publishers F and G?

26,364
26

ThIE F G 3

et @t drae e e 2 /
(a) 18850 (b) 18950

(c) 19850 (d) 19950

UGC NTA NET JRF June 2020 (13 Nov.) Shift-I
Ans. (d) : F 210 WHIUA R IEFEHE R 1 6 =

357[}Dxi=31260[]
Cmmﬁmmmﬁagﬁmaﬁm 35700

13
= 27300
18 v

F 3R G &0 ¥EIva §a T FaeEs [l @1 96
= 12600 + 27300 = 39900

I, FA WA TS A G = 120800 + 102320
= 1228160
3R FA FHER T = 7

s svie st = 222190 _ 31880

131. What is the total number of books distributed
by publishers C and E?

e C 3 E o faafta geat &t g
o faeft &2
(a) 53688 (b) 54026
(c) 27513 (d) 27324
UGC NTA NET JRF June 2020 (13 Nov.) Shift-I
Ans. () : C 310 faafta qe=i 9t d@ = 29700 ]%‘0
=27324
210 faaRa qea) @) §@ = 33800 x %—26364
C 3 E w0 fanfta qwai @it wemn
=27324 + 26364 = 53688

The Following table shows total number of
students in the Depariment of an Institute
along with percentage of Female and Male
students. Answer the question 132-136 based
on the data given below.

freifera arfee W Tt deama & R ®
faenfifai @ o wE wrnei oft uEl &
wfowe & @ IniE T {1 e Ry oresi &

. onfiy o 39900 _
o = =g 190 U W WA 132-136 3 IS
130. If the total number of books published by || Pepartment | Total No.of | Percentage | Percenta
publishers D, E and F is increased by 20% and Students | of female ge of
the total number of books published by the Ll Mﬁalc
remaining publishers be decreased by 20%, T A wfevra LI .
then what will be the average of books @ //_\ wfevE |
published by all lh;ﬂaublishurs? = Computer/ 540 7 a5 - 55
afg yawia D, E 3T F am yaida gt )
e wEE ¥ 20% gha Bt & 3 Iy Civ“ﬁﬁﬁ =5 /35\\ =
o gt o 20 W @ @ g & A -
eI g W e w st P | | Mech T l999_J¥1ﬂ1\ L
$? Electrical/ 360 35
{a) 31880 (b) 32518 -
(c) 33318 (d) 36610 Electronics/ 450 a4 56
UGC NTA NET JRF June 2020 (13 Nov.) Shift-1 ’ i
Ans. (a) : D, E 3R F 2 3090 o geat 31 g& =| || Mining/msfam 540 40 _60 |

31200 + 33800 + 35700 ]
20% (& @& @& D, E & F &7 W@ Hel Tosh a
HE = 100700 * % = 120840

TN NEYH YA AN §A G @ "em = 28200 +
332200 +29700 +37800 = 127900

20% 1 FH F WIW WA FEEE HAA T THOW FA

T # T = 127900 * %’a = 102320

132. What is the respective ratio of the number of
females in Mechanical Department to the
number of females in Flec(rnnu’:s Department"

¥ pEei @ dEm @

yeragrtram faum § pEmdl @t @ & Ay
THWE T o &7

(a) 43 (b) 23:22

(c) 24:21 (d) 23:21
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Ans. (b) : "Efww fmm A omEned St wewm
213V N
eI fawm | grmsd ) we
4502 198
v 100 /
A Y FIIE = 207:198 = 23:22

sefazae  fawm 0 qew @ g
=360-234 =126

fefae st sofgsa fem § afeasi @ g«
TEM= 774234 =311

fafae it gefdgaa fam & qedl @ g
HEN= 143+126 = 269

IA: AP HOE = 311:269

133. What is the total number of students in all the

Departments?
ah forai 5 et =81 aper s et 42

136. What is the average percentage of female
students in the whole Institute?

T e et st g e £

(a) 2210 =~ (b) 3210 — (a) 42.0% {b) 41.0%
(c) 3400 (d) 3310 (c) 43.0% (d) 41.5%
UGC NTA NET JRF June 2020 (11 Nov.) Shift-11 UGC NTA NET JRF June 2020 (11 Nov.) Shift-11
Ans, (d) @ . N Ans. (a) :
wft fomii § fornfddi it @ e Teentérar =1 | oramen =
= 840+ 220+ 900 + 360 + 450 + 540 HA @ wiergre
= 3310 =N
134. What is the total number of male students in | | F7=1 840 45
Computer and Mining Department together? fafaa 220 35
<t mmmﬁtmﬁmmaﬁ ST 900 73
T s foneef ¢ Sellazad 360 65
Ab wEe o e ————
UGC NTA NET JRF June 2020 (11 Nov.) Shift-11 | | T 540 0
A 252
Ans. (c) : - —~ —
FE fm i o 1 3w wEn W Q[ FEH OH SEIE & SMMIE e Naed
v 252
= 840 x> = 462 == 4%
100 6

=

T fovi & ol @ g den :>540x]%
—

=324
T FgE 3R R fam F@ e onl & g9
HEA = 462+ 324 = 786

135. What is the ratio of the number of females in
Civil and Electrical departments together to
the number of males in the same Departments
together?
fafem it PfRme famm =t fiemer
praEh &t Ter f 39 et & fiemes

BRI @t | & dier srquT @ §7
(a) 311:270 (b) 329:261
(c) 411:469 (d) 311:269

UGC NTA NET JRF June 2020 (11 Nov,) Shift-11
Ans. (d) :

fiferen Fawr 3 ieemati & we ::-220»:]% =77

fafeer fmm # qodl &1 §801 = 220-77 =143
afdzga  fawm § wigensd & dem
=360 x5 =234

100

The following table shows number of pages printed by
five printers A to E during Monday to Friday. Study the
table and answer the following questions 137-141.
Printers | A B C D L

—3

Days |
Monday |25 |20 |35 |15 |25
Tuesday 40 15 30 20 20
Wednesday | 22 | 11 | 33 |40 |20
Thursday |32 |42 |32 |30 |22
Friday 36 36 37 35 25
fret e @ AIWAT | Y@an & SN U T6ed A
¥ E g gER Yul o dear I v 1 aiee @
T &t 3 Prafafaa woai 137-141 & I

fuet A B C D E

HAAR 25 20 35 15 25
Hiean 40 15 30 20 20
LI 22 11 33 40 20

geeataan | 32 42 32 30 22

wmaw |36 |36 |37 |35 |25
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137. What is the average number of pages printed
by printer C on Monday, Wednesday,
Thursday and Friday taken together?

FUaT dn gwar =t

forment Bt C 3T 9w ggt @ ofw wE
T e?

(a) 33 (b) 33.25

(c) 34 (d) 3425

UGC NTA NET JRF June 2020 (11 Nov.) Shift-I
Ans. (d) : AR, IUER, FeWlER IR YHEAR
frer B2 ¢ T gfia gsi @ g@ dem =35 +
33+32437 =137
T = 3 v =4

am: snite A =%=34.25

138. Which printer has printed third lowest number
_ogi"LFtages in all the five days taken together?
uiw feast = et @ @ EET L
WaH & YEI 1 GEuT A war §7
(a) B (b) C
(c) D (d) E
UGC NTA NET JRF June 2020 (11 Nov.) Shift-1

(a) 5:6 (b) 6:5
(c) 15:6 (d) 5:8
UGC NTA NET JRF June 2020 (11 Nov.) Shift-1

Ans, (d) : FER @ X E 300 gz gel @ g =
25 3R q9aR 31 B D 27 qz4 g=i 1 d@em =40
Ha: InfTE 31 9E = 25 : 40

=5:8

141. Total number of pages printed by all printers
in five days is. L firedt g afeA
BT & H e feret §2

(a) 678 (b) 686

(c) 698 (d) 708

UGC NTA NET JRF June 2020 (11 Nov.) Shift-I

Ans. (c) : T Bt o = uiw fA # qfsa Fa 9=
&l fagwwr femag 8- o

firzr | fifet g gizw gt &t wen
25+40+22+32+36=155
20+ 15+ [1+42+36= 124
35+30+33+32+37=167

o o o) @\ >

Ans, (¢) : B0 =T @ vt of9 fA # Afem get 15+ 20 +40+ 30 + 35 = 140
hkaln 25+20+20+22+25=112
et e g qiEa ygn &t 9
— Im: " fom 4 it e 2 qfem gl @ 3 Gen =
N 2544422432436 = 155 155+124+167+140+112 = 698
B 20+15+11+42+36= 124 Study the data in the given table and answer
C 35+30+33+32437 = 167 the question that follow
The table below embaodies data on the number
D 15+20+40+30+35=140 of students who appeared (A) and passed (P) in
E 35+20+20-22+25=112 a competitive examination from four different
— : i i zones (K, L, M and N) during the year 2014 to
3, @it oe o @ e B D 3 e w an 2019, A & T o @d 2014 ¥ 2019
gt &1 qEw e g @& & g an fafie S (K, LM st N)
139. In all five days of printing, what percentage of ¥ foddt yfterdt wen & it gu (A) ofm

pages printed by printer D has been printed by
printer E?
it uiwr feawdt & g #, fier p g ghiw
gat @ frt wiewre fifeT E 3 iy famm §2
(a) 75% (b) 80%
(c) 82% (d) 85%
UGC NTA NET JRF June 2020 (11 Nov.) Shift-1

Ans. (b) : Tf oiw &1 A7 §EX D T Ao F g2 A

TE=AT = 15 + 20+40430+35 = 140

wit uiw fadl 4 iz E aw qfim g@ 9= @ e

=25+20+20+22425 =112

#a: g SfavW =%x]ﬂ{l
= 80%

140. What is the ratio between pages printed by
printer E on Monday and pages printed by
printer D on Wednesday?

e E 3 Wimar &t giw gEi o filew b
T guan @t Gixd UsT & dia U o §7

Il gu (p) faenfidat @ sriwmer foar mar &
witereRT o fau U Aiwst & WU W uvEl &
Wﬁﬁﬂ{:

Tafira == o faenfeiai 2t ad-am @

Year| Zone K l. M N
jad | @A [ P | AP | AJP| AP

2014 T82| 3o0| ol2] 310) 720]410)1020] RO2

2015 804| 472| 6O8| 324| 728|480 ]1135] B40

2016 T20| 448| 636| 298| GBD|390|1084| BG4

2017 T50] 360 655] 05| 695]396 | 1096] T66

2018 824 504| 640 346 712|424 ]11R0| 752

2019 850) 496 600] J15) 740464 ]1165] TRO

142, What is the dilTerence between the total
number of students who appeared in the exam
and the total number of students who passed
the exam from Zone-K _in all the six years taken
together?/ T3t wg @dl o fimmey 9 K

\/v&an o ynfrer gu franfi=i &t g den ofn
Iitel gu ferenfiar & ger dEm | faaar siav g7
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184. For the country "Y', what is the average annual
growth (%) of renewable energy capacity?
29 'Y & o sdteita s=t gar & el
atfde gig (%) T Wi & 2
(a) ~10.85% (by ~12.77%
(c) ~13.25% (d) ~11.65%
UGC NTA NET JRF June 2020 (24 Sept.) Shilt-11

Ans. (b):

T/ag | Y gte |gfg %

2015 15

2016 18 3 3
—x100=20%
15

2017 20 2 2
—x100=11.11%
I8

2018 20 0 0%

2019 24 4 4
—x100=> 20%
20

off oA gfg WA =20+ 1111 + 0+ 20 =

51.11%

; 51.11
3w 3nfrE e = ——— = 12.77%
185. In any given vear, compared to the previous

yvear which country(s) registered maximum

growth (%)?
gdad! ad @ gern | et g e ad # few

v/ferm oit 3 arfireew gig (%) el e g 2

(@ T (b) Zand Y/Z 3T Y
)Y (d) X and Z/X 3R Z
UGC NTA NET JRF June 2020 (24 Sept.) Shift-I1
Ans, (d):
amyad | 2015 | 2019 | afg | a9fz %
X 10 22 12 12
—x100=120%
10
Y 15 24 |9 9
Eﬂﬂt}:ﬁﬂ%
Z 08 20 12 12
Exlt}t};::lsnfef.,
T 12 20 |8 8
T 100 = 66.67%
IA: oW X AR Z ANFA (5 (%) 3 & 2

186. Taking all four countries together, what is the
over-all increase (%) in installed capacity of
Renewahle energy in the year 2019, with
reference to 20057

aift =il I9i @ e, ad 2015 & d@ed o
au 2019 ° Fdiauita Hat @t w@iud awar §
wny ghg (%) TRt & 2

(a) 52.32% (b) 91.11%
(c) 117.32% (d) 121.81%
UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
Ans. (b) : @ 2015 7 wifA o == &1 34
AU = 10+ 15+ 8+ 12=45
af 2019 # wnfua sl @i & ga awa =22 +
24 +20+20 =86
gfe =86 -45 =41

3m: anfie afg wfrem =%x100=91_ll%

wrefi F fyw Ty el & IR W wwET W I S

famafafan ameft w fa=m F¢ fammi 3§ 2013-2018 &
A FOA T A (%), SN A S T S
' # =@ wd WA @ (%) T OWE T w O
Fyitar T &

Td-am fasira fraro
d | st 'w’ | Sl wm | et e
&AW % g =T
(@ s %) | (@ s o)
2013 40% 48.6 36
2014 25% 35 25
2015 60% 624 48
2016 40% 77 44
2017 10% 80 50
2018 20% 72 45
E R (%)= 311:;1?!1 =100
187. ot ‘et @ wihere T fee ad gas it
ar?
(a) 2014 (b) 2015
(c) 2016 (d) 2017
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10
Ans. (c):
af 2014 7,

F0-1 B & Wierer @ =[35_:525]xl'[]0:} 40%

ad 2015 #,
. o V.
mﬂnmmm=[f’"4 43]x]ﬂﬂ:>32.72%

48
ag 2016 ¥,

Fo0 B F1 wfee m=(72‘:'4}100:3 75%
ad 2017 H,

. 80-350

T B & S amw= 0 x100 = 60%

Ivdw aiwE @ wWe & fF ad 2016 A I B @
vy @ 599 HivE a1
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188. afe ad 2014 F ot ‘v’ & 2T 325 @ %

o @ 2017 ¥ F0f A @ Y& @Y i B & Y&
off, 9 ad 2014 ¥ &t ‘U’ ug ot ‘i & %

o &l x% ¢, 4,

I T ( ¥ €. § ) o 9T o ar?
(a) 12.8 @ %. (b) 13.2 @@ &.
(c) 15 @ME & (d) 16.5 &1@ &,
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10
Ans. (d) : @ 20147 G0 A S AW =32.59
HY-=79
%100

25=[M}«1m

ST %=

1

4

=5xTd=325x%x 4

= =¥ arE = 26 @

aa: af 2014 9 FE F Y@ A9 = 32.5-26
=259

@ & 2014 # FA &1 Y@ @ = 35-25 = 10 @@

WA: A1 I & IS A H FA A = 10+6.5

=16.5 @&

30xx%=4.5
_45x100 .
0
191, @9 2013 W Ul U a1 HU4T & & o
wiergra # @ atav §7?
(a) % (b) 7%
(c) 12% (d) 15%

UGC NTA NET 2019 Shift-11 (6,12,2019) Set-10
Ans. (n) : @ 2013 ¥ &A1 ‘B & @9 A9

L(dﬂ.ﬁ—]ﬁ
36

]x100=35%
T4 2013 § FHT A" AT TAIW = 40%

3A: a1 Al & o Sfded 8 i A =40 - 35
= 5%

Comprchension :

forafafas it ur farem &1 fagd fafs dafat
u, & oft @ & g ad 2012-18 & #iw few Mo
forafa 2 fYr (=g &, o ) famrd wd & miftoft o fao
W ATHT & ATUT TT, WOT 192-196 T IAT 3|
st g few o frafa o ad-aw oftn

189. @fg a4 2018 W SUT ‘T’ @ A 90 TG .
ot, df 30 o duT '@ @ I T et T
& Yg @TH | Taamn wfaer siftrs &2
(a) 30% (b) 60%
(c) 75% (d) 80%
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10
Ans, (d) : 79 2018 § T A 9 377 = 90 TG

O -
20-( 20

)xIUO S =754

ad 2018 4 HGA A F Y& @M =90-75 = |5 @E
af 2018 # R B F B T = 7245 = 27 7E
I F e T A AW =27-15=12 7E

e @ st =%xl[}0=80%

190. afz ad 2017 | &t ‘T’ 1 =4 45 9T 6. AT
1 IW ad Fudt U oy Ay (FT E )
Het 't & g T (T 6§ ) @ fer
weera ar?

(a) 15% (b) 25%
(c) 40% (d) 75%
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10

Ans. (a) : 9 2017 | S50 T =59 =45 TG

3Ma-45
-~ 10 °/n=[ ]XIOO
A4S _ 1., T =495 TF
as 10

QAT =49.5—45=4.5 7@

aq i &t T (ST E.H)
T il =
2012 40 90 70
2013 70 50 100
2014 50 70 130
2015 80 70 100
2016 110 90 70
2017 60 110 90
2018 130 150 110

192. @9 2017 W A1 ShulA4a1 & @A (4917 0d ag
2012 ¥ =1 el & atww fafe § =

I E?
(a) ®. 15.33 Fg (b) ®. 18.67 T
(c) ®. 25 T8 (d) ¥. 20 =g

UGC NTA NET 2019 Shift-1 (6.12.2019) Sct-9
Ans. (d) : 3 2017 7 &= Fwfagi @1 sitaa frafa
_60+110+90

= 86.66 FAT %.
ad 2012 § i GafaEi #1 sia et

9 &
=w =200 _ 66.66 7z =.

arfreZ 3 = 86.66 — 66.66 = 20 FIZ &,

193, & T o & I & feAd a0t ¥ G U g
fame Ty ot o e & gE smafr % A AR
S0 sfam arfties Frata ot & st @ &2
(a) 2 (b) 3
(©) 4 (d) 5
UGC NTA NET 2019 Shift-1 (6.12.2019) Set-9

ad 2017 4 Fwl B ®1 ¥[@ @M = 80 - 50 = 30 @@

Ans. (b) : T 3@ & A o T & 3itwa Fah
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40+70+50+80+110+60+130
7

77.14 FS %.

ad 2015, 2016 @@ 2018 # &9 A & T fFw mm
forafa 3w wft @bl F aitea frafd (77.14) § afs @
&, 51 FEI: 80, 110 747 130 FIg F9¢ 2
194. Fr=feftaa fea gm ouf & SR &=t dafat
e Palm = w g
(a) 2014 3 2017 (b) 2015 3R 2017
(c) 2016 3 2017 (d) 2014 3T 2015
UGC NTA NET 2019 Shift-I (6.12.2019) Set-9
Ans. (d) :
af 2014 & 3RA A dofEl @ ga faf
=250 TG 5.
ad 2015 & <A @4 ol @1 g9 fafa
=250 FE &.
ad 2016 & aRA @ Sl @ Fa Faf
=270 % 3.
ad 2017 & aRA A dfal @ g faf
=260 F1Z T.
s g A 2014 3R 2015 F A & dufrE @
g i T @ #)
195. &g ad ol U ud s o & A & e
quf ey =gaw ar?
() 2013 (b) 2014
(c) 2015 (d) 2016
UGC NTA NET 2019 Shift-1 (6.12.2019) Set-9
Ans. (¢):
a4 2013 § F90 A 3 Foi B & Bl 4 sim
=20 &g %,
ad 2014 1 ST A R S0 B & FafA 6 3
=20 FE 5.
o 2015 ¥ FTH A 3 F B F fram 0 3w
=10 TS &,
af 2016 T FF A 3 @0 B F Frafa § 3im
= 20 FE %,
aa: 9 2015 F & A R @ B & fafa b e
guf sim =gan an
196. & T3 WAl &% S oAt o gro few o
forata &t afraa arftas wfdr shoeft Wt grr feen
mu frmiw @ e aide ofr @ wm
frem wietora (%) &7
(a) 89.64% (b) 91.21 %
(c) 94.03% (d) 93.33%
UGC NTA NET 2019 Shift-1 (6.12.2019) Sct-9
[Ans. (©) : |

_s0_
7

A T 3Efy F I FU0 B 20 R U aie i
o =90+50+70+70+90+||0+150:90m5_

7
& w sty F <o el C = sitew frafa
=6170=95.7| g

1 F C & 3iwa frafa @ B & 3ima fafa @
x%'@,ﬁ’-{

95.71xx% =90

=Sx= 9[.]” x100=94.03%

Comprchension :

frefaraa aifaT & ad 2013 | 2018 95 & @iy
& o A oft B 2 ufral grr s whwre @y
wew ¢ diferan o fd w8 wfwgi & W U 0T

ai=r wyat & I it
adar yfaya (%) Fv—
ad Afad % o
A B
2013 20% 35%
2014 32% 30%
2015 40% 50%
2016 25% 40%
2017 30% 30%
2018 15% 40%
_(3m-=m3)
T, T % = o X100
197, afg ad 2017 & Swft A 31 a7 %, 26 TG £,
At 39 Td S A @ og e §7
(a) % 33.8 @@ (b) & 22.5 @@
(c) . 21.6 @@ (d) %. 20.0 @@

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8
Ans. (d) : @ 2017 § FT1 A T 31T =26 @G T.
ar a9 2017 & &0t A F @ &1 S = 30%
Mz i AT xAE E ¢, @

mgﬁm;ﬂ
' =g

)xlﬂﬂ
16 —
:>3n=("ﬁ "}qmo

X
30 _26_, :Easy Notes 4u
LU :Online Study :
26 3 : :
= ——=—"4|  SessssssssssssssssssssssmmEmnas .
x 10
=:-2—6=£=:»x=20.0?'|'|'ﬂ'5.
x 10
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198. afg ad 2014 23X 2017 W & B & =4 &l oo FE=55
ol AT F. 48 @ &, 7 5 ST @l F o :’*”:[ 55 ]xmﬂ
B & & o Tt §7 20
(a) ¥ 62.4 718 (b) ¥ 36.2 @@ 55 100
(c) ¥ 64.0 @@ (d) ¥ 65.5 @ :}E=E:m:ﬁ6m¥.
UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8 5510
Ans. (a) : T 2014 F FTH B F AM=30% 200. afy ad 2013 ¥ Hu-t B & =4 %, 17 FTE o1,
e ad 2017 § &9 B & @ = 30% o 3@ A4 WAt I fRa-t &i?
3l 3§ § T B @ @ Y% A e (a) & 22.95 @@ (b) 5. 23.15 @@

3 aft @f 2014 3k 2017 & R B & =77 3 o
=48 W@ 5, ¢
T W S g # S B # §e A x . g

W'm]xmn
=q

x—48
100
48 ]”

oo %:(

:>3{]=(
X 3

48 I_m

X 3
- ———

48 10

x_13

48 10
=Xx=624714 ¥,
199. @fe ad 2013 W Ul T A & oad 31T
2018 # ot B &1 g wwE §, 3w ad 2018
HagI B MA@ 6. 77 er@ &, drad 2013 &

HUAT A T 2 fomat £7
(a) %. 55 @ (h) %. 66 @@
(c) %. 56 @G (d) 5. 64 @

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8
Ans. (b) : T @ 2013 0 A 1 =g HRT ad 2018 |
Fof BT =9 x @ E. 2
Tf 2018 W FUH B AW =779 &,

T ad 2018 7 &UAt B & @ = 40%

am—m]xmo
=g

T7T—x
X

;oM Y :(

:>-’-10=[ JxIOO

a: ad 2013 ° St A 9 3,

T-=g )x 100

r-m'q%=(

(c) %. 24.50 & (d) 5. 25.65 @

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8
Ans. (a) : @4 2013 ¥ &oil B & =59 |7 @@ & 91,
9 39 99 S 37,
HTq-=49

- T %=( ]xmn

:35:(3““"7}100
17

g 35
> =
17 100

:m=ﬁx17=22,95 [SILE RE
100

201. Torm od 7 Swt A =it 3ma i =A@ @ U
waffie §?
(a) 2013 (b) 2017
(c) 2015 (d) 2018
UGC NTA NET 2019 Shift-11(5.12.2019) Set-8
Ans. (c) : @4 2013 © F9l A & FE 3T =T T

I, T % -_-[mm:m]xmu

= ﬂ-l=£:m:m=6:5m24:20
=q 100
ad 2015 H,
T = o iem=7:528:20
=g 100
ad 2017 #,
E:£+I:::E‘Jﬂl:‘GERT=I3: 1091 26 : 20
=g 100
ad 2018 ¥,
I e mm=23:20
=9 100
;394 AT ¥ W € 5 ad 2015 # dwh A S
3 3 G F YA WAF (28:20) B
Comprehension :
Hrer & wiferen # W= awm-awm SieE (A, B 3w
C) ¥ 2014 ¥ 2019 & ET-3TET 6l H WA & A
B S WET want afems ¥ arfere # 2w o afwst &
ST T Yo . 202 T 206 & IAT giraw—

fafirsr wicrsl | Ya9T & aTel Sl &l aua G& :
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255. BRE-A i dwm-B I #
feranfefai 7 10 & =W 3t yra fwg?
(a) 10 by 11
(c) 12 @ 6
UGC NTA NET/JRF Shift- 1, Set-01 June 2019

ns : (J) GFE-A 30 GFA-B A 8§ 10 § F9 3iF

= 24,00,000x —>

100
_ =1,80,000 _
T YR D 0 OgEN @ gl Hen & x% Y@ E §
aqE §

IR [ H 9% & e

1,92,000 = x% = 1,80,000

9 &l faafddi S g =2+4=6 _ 180,000 .0
256, 4t 3T 40 & 71 GawH B ¥ 301 g7 @y B ;fff;g””
Ferenfefai @ wfagra o feaem §2 ' wchuk L LOEL
258, F-vreT ¥ TeRa wfen aaws €7
(a) 48% (b) 51%
(a) 282000 (b) 230000
(c) 50% (d) 47% (¢) 234000 (d) 242000
UGC NTA NET/ARF Shift- 1, Set-01 June 2019 UGC NTA NET/JRF Shift- T1, Set-04 June 2019
Ans : (b) a2 IFviF 40 3% & @ d3v= B # 3l 5 et <2 15
@ﬁa@@aﬁﬁaﬁﬁ@=?+s+s+ﬁ=z3 Ans. (¢) T F 31 T SR =24,00,000%
H9vH B H gl faufdai =i dem = 45 = 3,60,000
. 3ol @ ATt faafdat @ sfowa W& T aaen whE @ S = 3,60,000% 22
23 l
=25 <100 =2.34,000
=511 259. BVIEt ¥ Uew 3R witem & d@n ¥ fEen
=51% T R?

frofafaa afeer fad o ol A-F &Y
TAEE & wiavw fawwn, gEe et uigen seum
ol 2 vigdl W gues @i & ufaee gviar T
£, W faem wifm) 39 O YE @ el SWEEn 24
wrE {1 aifret & argRn R el et & s
EUELL

(a) 42000 (b) 44000
(c) 45000 (d) 48000
UGC NTA NET/JRF Shift- 11, Sei-04 June 2019

Ans. (d) Y@t B 3 el SHEET = 24,00,000x %

. ) =4,32,000
e B ¥ YEY 3 Aigen # 3 = 5: 4

IIET-ET FTEEAT . 59 SR afeen 1 S S =54 = |
VE TEHENm W %  TEY: WRem % 9uwh . VR B H 79 3R Afgen 2 g #
A 21 4:3 60 B I
B 18 5.4 64 3 3 = 4,32,000 x —
C 16 5:3 72 = 48000
D 20 2:3 70 260. C-yigt ¥ = Safehdl ol T Tehadl g o
B (a) 107520 (b) 108410
E-9Tet & T §2 UGC NTA NET/JRF Shift- I, Set-04 June 2019
(a) 82.5% (b) 87.75% ] 16
(c) 92.5% (d) 93.75% Ans. (n) T8 C &1 T FTHESA = 24,00,000x m
UGC NTA NET/JRF Shift- 11, Set-04 June 2019 = 3.84.000
Ans. (d) TR C f FUTE @ & S = 72%
W—Dﬂﬁiﬂﬁﬂﬁ@ﬂ—7400000x—o .'.WC?mﬁﬂﬁﬂHﬁ?ﬁ=lﬁﬂ—72=28%
100 S R C F 3 G 31 anire dem | a6 8
= 4.80,000 »
N . 2 =3,84,000 x —
e-D § TR A F W= = 4,80,000x = 100
e 3 = 107520
= 1,92,000 o |28 D e i g e €7
Zifl YR ¥eX E F1 Fe SAEE = 24,00,000x— (a) 1.88 w g (b) 1.92 @@
g 100 (c) 1.96 @ (d) 2.04 TT@
= 2.40.000 UGC NTA NET/JRF Shift- 11, Set-04 June 2019
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Ans. (b) & D F FoT GG = 4,80,000
. YR DA [ & F9 FEw =4,an_mmx§
=1,92,000
=1.92 9@

TrefarEs AifdeT o fa=w sitaw = ag 2011-2018
o Hier SO & IdTE IS (10000 ) & YT § -

w20 20 20 20 20 20 20 20
112 13 14 15 16 17 18
T 35 S0 70 55 75 60 85 90
I
262. T2 o fRm @l o sden @ Iwes fu g
aal & afraa e @ stfus ar?
(a) 2 (b) 3
(c) 4 (d) 5

UGC NTA NET/JRF Shift- 11, Set-06 June 2019
Ans : (c) : Ru U afem & argem ad 2011 ¥ 2018
7% & 919 I & o I F AM

= 35+50+70+55+75+60+85+90 = 520

TH WER mifers d @ & fE ad 2013, 2015, 2017

a1 2018 § IR FHHI: 70, 75, 8S 797 90 T I &
aitoa I (65) 0 fas an

263, & a9 o 3ee 0 gig & wiave Ued ae

@t g | otfirmaw ar?
(a) 2012 (b) 2013
(c) 2015 (d) 2018

UGC NTA NETAIRF Shift- II, Set-06 June 2019
Ans : (a): @9 2011 H J4EA =35

ﬂ*ulﬂnmqﬁﬂm—~x|00
—42_35%

aﬁzmsﬁmﬁq&mm=%xmu
=40%

af 2014 & e #f fooet af 3% qoen i gf &)

a‘ﬁ"ﬂlSW’ﬂﬁ?‘»‘rqﬁmﬂﬁ?ﬁu;xlﬂ{]

-

=36.36%
aﬁ*m&%ammﬁﬁa@aﬁaﬁwﬁaﬁrgﬁél
a¥ 2017 § 3EA W gig & Wava = —ﬂxlOﬂ
=41.66%
T 2018 ¥ 3= # afg &1 faww = a—ixmoss.m%

svfm e @ we ¢ B ad 2012 § fod af @
a1 d 3cEA | gfg & Sfava sifaad an

264. Prerfafee auf & gm F | fewd afww

IR W 2012 3w 2013 & 3fwa s &

fareger Tom an?

(a) 2011 3T 2012 (b) 2011 3 2017

() 2012 3T 2014 (d) 2015 37T 2016

UGC NTA NET/JRF Shift- 11, Set-06 June 2019
Ans : (b) : @f 2012 3R 2013 & IFUEA T FA

T =50+70= 120

120

" ad 2012 37X 2013 &1 3HEG IEEA =

=60
ad 2011 3T 2012 i 364 3qEA

= 35+50

af 2011 3T 2017 F 3itaq 9=
_ 35485

T4 2012 3 2014 =7 A IAEA
_ 50455
2

=425

'

= 60

=525

ad 2015 3t 2016 &1 3HtEa S
= 75:60:&5

I aiwgl & we & B oaf 2011 o 2017 W
FHa FeeA a9 2012 3 2013 & W IEA (60)
& facga qumA o)
265. 2013 | 2014 A I & IS 0 fohad

i firrae amdt?

(a) 20.4 wfrem (b) 21.4 WY@

(¢) 22.6 wfvwm (d) 24.2 sy

UGC NTA NET/JRF Shift- IL, Set-06 June 2019
Ans : (b) : T 2013 ¥ I F A= =70
a8 2014 T SrUEA F AE = 55
IRA H &9 =70-55=15
. I F T 0 e () sfaem

=13 100=214%
70

266. 9 2018 F FAAT W TG 2011 W IAH &

IeaTe § gheg =0 Uleryra T feherm ean?

(a) 157% (b) 165%

(c) 177% (d) 182%

UGC NTA NET/JRF Shift- T1, Set-06 June 2019
Ans : (a): 39 2018 § IeeA F AW =90
T @ 2011 § =S FOAE = 35
FareA & gfaz & A = 90-35

=55
-, @] & I § gfe @ sfavm
55

x100=157%
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On On wiRHTE || [Ans.c) : i A & a0 g aTres st snd
Monday, Thursday = (2x31%5000
Tuesday and (2x3)
and Friday . =% 30,000
Wednesday | T&am aft T ¥R fe D & 20 araifes A e
WWaR, | ymEw =(2x3)+(2x2)
HITan =(10a) * 4000
3frt geran =% 40,0000
A 2 0 T 5000 - s A 70 D F 200§ aies i
B 3 - T 8000 30.000
C 1 3 T 6000 WA F I =———=3:4
D 2 2 Z 4000 40.000
E 3 i T 3000 305. The total amount spent by the teaching
302. What is the total remuneration earned by institute for paying remuneration to all the
teacher E in one week?/U&h W@Tg W Fets E teachers for taking classes on Monday only is-
Fra St et uiitstie - Haol ANaN & ST o & dgel Tt e
(a) T 12,000 (b) 9,000 W Aaq @t EEht &= & o Rreor dem=

(c) 23,000 (d) T 33,000

UGC NTA NET/JRF Shift - 1, set-5 20 Dec 2018
Ans.(d) : T @i @ me ¢ 5 fm E< ga o
™ 9 FAC = W, 7 a0 FEER § vdE 29 3
Fan i T FA = 3x3 =9
O AR SR IRAT § W & | @ a7

=2x| =>2a
o Fa =942 11 &
IM: @ gaR § E W i g9 viefie
= 11x3000
=T 33,000
In one week, teacher B earned T 72000, How
many hours of classes did he take oen Thursday
and Friday?
T AEE W s B 3 T 72000 e famam
THan AR yFar &t 38 fEaa 92 wand i?
(a) O {b) 1 hr. daily
(c) 2hrs. daily (d) 3hrs. daily
UGC NTA NET/AIRF Shift - 1, set-5 20 Dec 2018
Ans.(a) : ¥R, feE B A ww g@r 4 T 72000
ol fEan fwr B, WER, WEER G gYAR @ NS
fam 3 Famd amafg F@ = 3x3=9 @
=~ 9 it @ F& TEfE = 98000
=T 72,000
7 v fem B TFaR 31 AR 31 0 52 Fand <6 8
304. The ration of the total weekly earning of
teacher A to the total weekly earning of teacher

303.

1 is-

e A 3t e D g0 T WrTfees it
3T T AT -

(a) 5:6 (b) 5:4

(c) 3:4 (d) 5:8

UGC NTA NET/JRF Shift - 1, set-5 20 Dec 2018

BT =4 el T §-
(a) T 57,000 (b) T 58,000
(¢) T 47,000 (d) T 52,000

UGC NTA NET/AIRF Shift - 1, set-5 20 Dec 2018
Ans.(a) : fIF A 270 wmER &1 1S o
= 2x5000=2 10,000
e B g dmeEr & s e
= 3x8000= T 24,000
o C g0 gmER =i afsfa e
= 1x6000=2 6000
AER @ #dfa e
= 2x4000=T 8000
fema © g dmeEn #t afsa e
= 3x3000=2 9,000
3T: e THGR 1 FAT @4 & F5ct (Qwy @ (eRye

s DI

e w0 & 0d s
=3 10,000=24000-6000+3000+9000
=3 57,000
306. Assume that 4 weeks constitute a month. What

will be teacher D's earnings in 2 month?
WA ity i e g ° 4 9 & O wg o
et D =1 e ama gft-
(a) T 1,60,000 (b) T 40,000
(c) T 1,20,000 {d) T 16,000
UGC NTA NET/JIRF Shift - 1, set-5 20 Dec 2018
Ans.(a) : Fe® D & Z/1 | woR # A @ I
= (2x3)+H{2x2)
= 1037 = 4000
=3 40,000
- fom D& o0 uE W (4 Aae) # oA 3
=4x40,000
=3 1,060,000
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419. Find out the difference between the average
marks in subject 1 (Sub 1) and average marks
in subject 2 (sub 2).
faga-| 7o fawa-2 & sfea st & afar v #-
(n) 3.13 (b) 4.07
(c) 345 (d) 390
NTAUGC NETHRF June 2021(24-12-2021 Shift-11)

Ans. (¢) :
fera—1 famg-2
fereamif-1 40 45
faamdt-2 60 70
faremdi-3 70 74
faardi-4 S0 75
feamdf-5 61 66
frmdf-6 70 65
faemdt-7 65 45
T 416 440
rEd 59.42 62.85

fema | 1 37 37 = 59.42

ferea 11 ¥ =7 379 = 62.85

iy 3if =62.85-59.42=343 =345

420. In which subject is the overall percentage best?
ferm faras o oo wlergraan F&'S i?
(a) Subject 2/f@98- 2 (b) Subject 3/fawa- 3
(¢) Subject4f@T3- 4 (d) Subject 5/fa3- 5
NTA UGC NET/JRF June 2021(24-12-2021 Shift-IT)

Ans, (b) : ITYE WY1 F AR 4,

fowa 3 7w wad sfus sfvea wm & ® 2 W &

69.6 &1

Direction : (Q.No. 421-425): The given table gives the
percentage distribution of population of five
states A, B, C, D, E on the basis of Education
and also on the basis of sex. Study the table and
answer the question that follow.
(WA T 421 W 425 ©F) : ANEET & 3Temaq
& fa= gvAl & v i
frafafas @ifeen § fran @ fHn & smm w@
A, B, C, D 3fT |k uiw 7= @ SAEEn @

421. Supposec the population of State A is 1 million,

count the number of graduate females in State A,

A T & FTEET 10 @@ A/ df A T o
T Wigeail @i e o §7
(a) 2,15,000 (b) 2.25,000
(c) 2,30,000 (d) 2,20,000
NTA UGC NET/JRF June 2021(24-12-2021 Shift-1)
Ans. (b) : A T3 &1 sHEET = 10,00,000 (Fa1 8)
A TS W FE afgensii & 9@

= 10,00,000x60% x%

~10.00,000x 30 2
1008

- |,no,onnx3:3

=25000x9

= 225000
If the male population in the 10 + 2 category is
2 million in State B, then the total population of
State B is
afy 7=a B 10 + 2 goft 3% gEw w=EEAT 20
wTE €, 9 T B &l &l waEn 2
(a) 8 million’s fafer@  (b) 6 millios faferas
(¢) 7 million’7 fafF@  (d) 9 milliowo faferam
NTA UGC NET/IRF June 2021(24-12-2021 Shifi-1)
Ans. (a) : T, B U9 3 §0 TEE =x &)
Fafere, T3 B # 10+2 51 § qENl 3 G

xxSO%x% — 2000000

422.

xxﬂxi= 2000000
100 10

xx - xL = 2000000
2%2

% = 2000000

x = 80,00,000 or 8 fega

423. What will be the difference between the male
population in the (10 + 2) category and the
male population in the Graduate category if the

fererror witrerer frar mar & total population of State C is 4 million.
TfE 5T C @ H TG 40 TG £, A (10
Proportion of Males v e
andpFemalcs *+2) lil'u‘ﬁ‘.aﬂ‘ ™ L 3 sioft @t
qent T 6T AAEEET # AT ate grm?
‘;"‘T"?' (a) 73,000 (b) 70,000
State/|  Percentage of (10+2  |(Graduate (;Jr,ﬁ%)g NET/JRF Junc{g::nz?{ligi}:]z-znzl Shift-T)
oA | Educated Population/ |category)/|Category)/
T T s || [AS- (c): Ea &,
giavm sroft |||C U7 31 Fa@ S = 4 fafers T (40,000,00)
n 0 s 53 Tsa C | 10+2 =oft § gt 3 T
B 50 5:5 5:2 =qo.m}.000x£x§,
C 35 5:3 4:3 100 8
D 45 6:5 4:2 =4o_gnu,‘ﬂ
E 41 4:3 3:2 8
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=5,000x175
= 8,75,000
T C 1 o ARt § qee @ g
= 40,000, 00x—> x4
100 7
= 40,000%5x4
= 8,00,000
;e 3= = 8,75,000 — 8,00,000
= 75,000

424. Which state will have the highest number of

female population (in the Graduate category),
if the population of each state is 1 million?

afg Ued T & ATEEr 10 a@ g ot

e St ¥ R wew @t wfgen s

uﬂﬂimi'nﬁ:

(a) A (b) B

(c) C (d) D

NTA UGC NET/JRF June 2021(24-12-2021 Shift-)
Ans. (a) : B0 2, 50 U9 @ SE@ = 10,00,000
s guit | nfger swoEr § Tem

T AT = I0,0U,DUUxﬂx§=2.ZS.ﬂ{]0
100 3

T BH = 10,00, ODOX—O:-:?-I 42,857,142

35 3

T CH = 10,00,000 x —x ==1,50,000
100 7

- 2
T DO = ]I],OO,[II]CIxﬂx—z 1,50,000
100 6

¥:, A% ¥ TS F7 SHEEN 10 @6 £ =0
goft 5 =T A T wfeen SEEn A 2
425.

Find out the total number of females in the
Graduate category in State D (Total population
is 2 million) and State E (Total population is 1
million) AT D (F& FFEE 20 &G §)
st 9w E ($F wEEnm 10 v@ §) °
e sroft ¥ wigeeit @t Ho dea a1 §?

(a) 4,50,564 (b) 4,20,890

(c) 464,000 (d) 4,50,660

NTA UGC NET/JRF June 2021{24-12-2021 Shift-1)
Ans. (c) : &1 &, 79 D #1 F@ wEEA = 20,00,000
3T T E & FA THEE = 10,00,000
3 T4 D § wieen =wE @ @

] H
= 20,00, UOOx—sx: :Easy
100" 6

=3,00,000
U= E 8 Aiken s & GEn
7 -
= 10,00,000x —x—

100 5
=1,64,000

3@: 3pfiE T = 3,00,000+1 64()00

= 464,000

EOnIine
:Study

Direction (From Q.N. 426 (o 430) : The following
table presents the number of Registered and Pending
criminal cases (in Thousands) relating to three (3)
crimes namely Larceny, Arson and Carjacking in
each year from 2015 to 2020. Based on the data in the
table answer the questions.

Year-Wise Criminal Cases (in Thousands)

Crime Larceny Arson Carjacking
- Registered | Pending | Registered | Pending | Registered |Pending
Yeard

2015 21 15 33 29 15 12
20016 42 32 n 26 2] 11
2007 35 20 60 3 50 15
2018 5 14 43 20 20 10
oy Hh3 44 6l -1':! -1l| 22
020 80 35 &

e (9H. 426 | 430 9) ¢ ﬁrmmﬁqmﬁamuﬁ
2015 ¥ 2020 7&F & e ad ® =Y, smree afw
A== S fremmd i & wafua v ofw
foremmd snoofte T @EH ) @ WA S 8
Afera # fEU MU HiEHST & U W 9oT H I G

A S =8 o . i #)
ETen ] = EL e RS
-+ | g | fammim | deige | i | wie | AEmis
il
2015 21 15 35 29 15 12
2016 42 32 30 26 2 T
20107 35 20 60 34 50 15
218 25 14 45 0 20 10
2019 65 44 t) 49 40 22
2020 80 55 35 18 75 55

426. What is the number of solved Arson cases in
the year 2015 as an approximate percentage of
all the pending Arson cases from the vear 2015
to 20207

ad 2015 § 2020 @& & AWTEAT & W
feremmfr mmoet @t argmfaw i, 2015
7 foru o et & wmet @ e &% w9
o T git?
(a) 20% (b) 25%
(¢) 15% (d) 30%
NTA UGC NET/JRF June 2021(04-12-2021 Shift-11)
Ans. (¢) : a8 2015 ¥ 2020 7% & HOTHAT & T
T AE & F HEA = 29+26+39+20+49+18
=181
7 2015 7 7@ fFU T 3T & wwEr @ aE
=55-29
=26

=0.14365 = 100
=14.365% = 15%
{Mﬁmnmﬁﬁmmr@m%)
Ha: a4 2015 § 2020 7% & e & wfl faEmndE
e @ ST S, 2015 § #9 fEy e s
& We & HE & wY 6 15% 2

NTA UGC First Paper Planner Volume-1

451

YCT

Scanned with CamScanner


Divya Gautam
Easy Notes 4u Online Study 


489. What is the ratio of the number of males in
Organisation A to the number of males in

Organization C?/8T3T A ¥ &t =t e oft

e C # qEui @t WEAT F U a4 §?
(a) 18:31 (b) 7:27
(c) 9:19 (d) 9:31

NTA UGC NET/AIRF June 2021(25-11-2021 Shift-I1)
Ans. (d) : SFTER

- 18%35000x3

T AT T 3 R looxto 1890
H3A C ¥ qeel @l e = 31x35000x3 _ cc10
100x35
A AT = 1890: 6510
= 189 : 651
=9:3]

490. What is the total number of males in all lhf flive
organizations together?/ @l uler WAt &

foremert qEdl i e wEm = §?
(a) 13350 (b) 14700
(€) 15960 (d) 16280

NTA UGC NET/RF June 2021(25-11-2021 Shift-11)
Ans. (¢) : Tt HraH § qEET @1 F@ €T =
]3!3500013+22x35000!l] +3In35000x3
100x10 100x20 100x5
+15x35{]00x2+l4x35000xl
100x5 100x 4
= 1890+4235+6510+2100+1225 = 15960

Direclion (491-495):-  Study the given table
carefully and answer the questions that follow.

frfafga arfee @ wEgds ufge et e
f3u oyt & I i

Number (N) of candidates (in lakhs) appearing
for a University Entrance examination from
four different states (A, B, C, D) and the
percentage (P) of candidates clearing the same
over the years are provided in the table below

fau ™y @i # =y fam-fas T (AL B, C, D)
| s favataorem yawr giten ¥ aftafa 6=
aTe anafifat @t W (V) (FrE ') aft 3w
afien # wwer g4 ater anafdat @ g

(p) Frafefias mifersr o &7 Wt §:

State A B C D
Year| N P N P N P N |P (%)
(%) (%) (%)

2016 (2.31| 32 |1.64| 42 [2.60| 46 (33| 29
2017 [2.02) 44 |L.72] 41 |2.45] 36 (3.1 32
2018 |1.98( 39 |2.02]| 37 |2.20| 33 (29| 31
2019 (1,85 28 [2.10] 43 |2.50] 42 (27| M
2020 12.20( 33 |1.90] 46 |2.55| 30 (30| 35

491. Find out tofal numher of students who have
cleared the entrance exam from 2016 to 2020
in State A.

2016 | 2020 95 T=T A | YA Qitgm § AR

B aet farenfiat @t e wEmr 7w i
(a) 355460 (b) 358660
(c) 360890 (d) 364420

NTA UGC NET/JRF June 2021(24-11-2021 Shift-1)
Ans. (d) : 2016 ®§ 2020 @F A U9 & Sau gimm d
HEA 8 9t

fermfd=i 2 wwm = [23]ﬂﬂl}x£)+[202000x£]
100 100
+[|l}sum}x—33]+[185m0x2_3)+(2zuﬂ0{1x£]
100 100 100
= 73920 + 88880 + 77220 + 51800 + 72600
=364420 _
A 2016 § 2020 dF A U9 ¥ yaw glen 9 AGa
9 ard faanidiai &1 e 364420 21
492,

Find out total average number of students who
qualified in 2020 (from all states).
2020 W W) WeA B A
Terenfifat = afrew d=n 79 =1 :
(a) 84550 (b) B4580
(c) 85375 (d) 86770
NTA UGC NETARF June 2021{24-11-2021 Shift-1)
Ans. (c) : @4 2020 3 (W T W ) GHA 24 AT

Forenfoiail ) wear = [220000><£J+[190000xﬁ]
100 100

+[2550[|[] ® £]+(3ﬂ0000>< E)
100 100

= 72600 + 87400 + 76500 + 105000
= 341500 . . X .
T 2020 § (5f TS T) OFA B ae fanfdEi &

I —— HEHE €1 ATl feaef @i e e
Fd T3
= 85375

ya: @f 2020 # (@ff TR F) gHW € A FrafdE
F A T = 85375 ®1

493. In which year did the highest number of
candidates clear the entrance exam from State

B?
forg od §f T B ¥ sifiteaw W@ ¥ snaeff

_ 341500

wavT wften # e gu?
(a) 2016 (b) 2018
(c) 2019 (d) 2020

NTA UGC NET/JRF June 2021(24-11-2021 Shift-1)
Ans. (c) : U59 B 21 59 a9 %o 8- arel feenfder
1 dwE ifafEy ¢ :-

2016 T TSI B 3W WheT @14 arel faantdai = d@em

9
= [1.64x1mnnnx4—')=ﬁsssn
100
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2017 ¥ TG B 21 Gl & aret [Eaidat @ gem

a1
T12x1 — |=7052
(1 T2x ﬂ{]ﬂﬂﬂxloo] 70520

2018 T U9 B 210 ¥%A ¢4 4 faanfdai 3 den

[ 02x100000% > J 74740
100
2019 # U9 B 21 6% i ard faaidar & den
(2 10x lnnﬂo{ixﬁ} 90300
; 100
2020 % ST B 30 WEA €14 a1 faanfaEi @ wem
(I QOXIOOOOOxT) 87400

#: T B 3 zra ad 2019 ¥ #aEifus 90300 el A
sae gl § wa g4

494. Find out the average number of non-qualified
candidates in 2019 (from all states).
2019 ® (Wit Tl /) IEee anardal &
e we T &+
(a) 135320 (b) 137270
(c) 139870 (d) 144025
NTA UGC NET/JRF June 2021(24-11-2021 Shift-1)

oft 7=z a4 2018 ¥ 9Ed &M ard fFfda
E2ea)|

(1 98 x 100000x£) [2 02 100000x£)
100 100

33
+(2.2U)-:IUUUUU><;) (’ 9 x l{}U[}[}{}xi]
100 100

= 77220 + 74740 + 72600 + 89900 = 314460
af 2017 74 af 2018 ¥ TFA T A fawida &
Y 3T = 346800 - 314460 = 32340
H: 1 ANl & Weg e 32340 WA famidEr @1 s
qrT A
Direction (Q.N. 496 —500):
The following table embodics the details ahout
the production and profit of two items 1 and 11
by seven different companies A-G. Cost of the
total production of both items together by
seven companices is T 25 crores. Based on the
data in the table, answer the question
fordor (wo= HEET 496-500)
froifira afwes d 21 awgedt 13w 11 & W
IET- T FHACTAT A-G RT IaAE T 1T
a1 faaur §) @l St g 2wl &

Ans. (d) : 2019 T (T TS ) WA il @ Tsh W IWET @ Fl @0 25 HF ¢
185100000 x = | +[ 2.10x100000x ~ 3 R FH S5 AT
=11 — |+ 2. —
[ " xloo] [ " XIU{]] T i)
58 66 Company — wise Production and profit details
[ﬂ SUKIGUUUUxm) [3.7 luuuuuxm] FrfraTT ST 3T T E R
= Company/ | Percentage | Ratio of Percent (%)
133200+ 119700 + 145000 + 178200 pany &
= 576100 Fl (%) ol | production | profit Earned
2019 # (wdt Tl ®) awwa arafdar & sitea Total between | for/ST <rw
;i'@T =it T § 3T anaidi i Production ltems [ & e
) Fa TH = 3d 1 | and Ih'fl”fﬂ Items | Items
@ W | 1TE 11 & | I
57610(] 144025 (%) g IeqTad aeq 1 | 79
@1 3T Il
495. Find out the difference between the total A 15% 5.3 25% | 20%
number of students who qualified in 2017 and B ]]n/ 3 s .3"‘” 359,
the total number of students who qualified in - = nf = "J“ _m:f
2018 (from all states). C 22% 4:1 20% | 22%
(wft = W) 2017 ® W% s At faenfdat D 08% 3:5 15% | 25%
w Fa e v 2018 W weA g A E 27% 5:3 | 28% | 30%
faenfifai @it ger dear @ 3 A & F 05% 1:4 35% | 25%
(a) 31750 (b) 31880 G 12% 1:2 30% | 24%
(c) 32220 (d) 32340 496. What is the total profit earned by company G
NTA UGC NET/RF June 2021(24-11-2021 Shift-T) for items 1 and II together? y
Ans.(g):wﬁmmaﬁ 2017 H ¥%d gH 4 W;lﬁmﬁﬁllaﬁ#fﬁ'&ﬁwmﬂ
famfdai < d@@m & BT ST AT AT faRear §72
{" 02x mooomﬂ} [1 72x mouumﬂ] (@) T 78 LakhsR 78 @
00 00 () T 1.62 crores R 1.62 5
2 i ;
+[2.45x 1unnoox3—]+(3.|x m{muoxL‘J (c) T 7.8 crores R 7.8 35
100 100 (d) ¥ 16.2 Lakhs R 16,2 U5
= 88880 + 70520 + 88200 + 99200 = 346800 NTA UGC NET/RF June 2021(22-11-2021 Shift-II)
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Ans. (a) : FHAT G F Fel IeqraA

N
=G= 111%0 x 250000000 = F30000000

g 1 1 3cEA = Gzlﬂﬂﬂﬂﬂﬂ[)x%:’\'lﬂﬂﬂ(}ﬂ(]{l

10000000 x 30
100

a%] 11 =1 39 = G =3Dﬂﬂﬁ000x%=?20000000

THIWAT = G= =%3000000

20000000 24
100
FHed @ = 3000000 + 4800000 = 7800000 =78 @@

497.

A NI =G= =Y4800000

What is the sum total of the cost of production
of item I by company A and the cost of
production of item Il by company B?

T A BT A | S IAEA @ wne ofi
wWAT B g A% 11 & IS @ A @l
foreraRt e fama-t Tifvr g2

(a) 2.6 CroresT 2.6 Flig

(b) 26 Lakhs® 26 @@

(c) 3.35 Crores/® 3.35 545

(d) 33.65 Lakhs/ 33.65 FUg

NTA UGC NET/IRF June 2021(22-11-2021 Shift-11)
Ans. (a) : T A SR G | & IEA & A0

= zsmonunox%x%= 15000000 =21.5 FE
FAl B 7 A% 11 % I & @

11 2 .
= 250000000 x—x = = 11000000 = 1.1 Firg
10075

I TEA = (1.5+ 1.1) AT = T2.6 TE
498.

What is the sum total of the profit earned by
company B on production of item [ and the
profit earned by company A on the production
of item I1?

HWHT B BN a1 & IeA1E | HETY 7T AT
it worft A B A 11 & ST | A
T ahy farereRt faRest Tifvr g4?

(a) T 9.78 Crores /R 9,78 Fg

(b) T 97.8 Lakhs X 97.8 @@

(c) T 52.8 Lakhs /R 52.8 @&

(d) T 30.65 Lakhs T 30.65 FU8

NTA UGC NETNRF June 2021(22-11-2021 Shift-11)

Ans. (b) : F55fl B 310 =% | 9T foew @y
= 250000000 % x> x 22 =52.8 T
100 5 100
FFA A T a1l T fren am
)
= 250000000 x 2 x 2 x = = 45000000 = 245 TTE
i 100" 5 100
afie ame = 97.8 W@

499. What is the ratio of the cost of production of
item I by company A to the cost of production
of item I by company D?/@™=1 A BFT aF ) 1%
IeA @ @ o wEE p g a1 &
IFAEA Sl TN T GTER 31uTa &1 §7
(a) 3:5 (b) 2:1
(c) 3:1 (d) 2:3
NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)
Ans. (b) : T A B G%] | & IS S AA-

250000000 x> x =
100 5

= 15000000 = T1.5 T

FOE B 2 T | F I 3 -
250000000 %x% — 7500000 = 375 TG
E FFTE = 15000000 : 7500000
=150:75
=2:1

500. Cost of production of item 1 by company F is
what percent (%) of the cost of production of
item hh by company D}?
O F g aR] | & SeT @ e @
yieyaT @t D g A 11 % ST @t
T W g W e §2
(a) 16% (b) 66.67%
(c) 33.33% (d) 20%
NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)
Ans. (d) : T F @0 3w | & AT w3 # amm

250000000% —— L= 22500000
1005

Fr D a0 A 11 #1 fffa F 3 arm

250000000 x ——x 2 =1 2500000
1008

2500000

ST Fw = o000
12500000

x100=20%

Direction (501-505)-The following table embodics the
details about the enrollment of students in five
different activities namely Swimming, Singing,
Drawing, Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students
including 1750 girls have bheen enrolled in various
activities in the school.

o (wvA. 9. 501-505) Proifera arferan @ 2020-21
& dr= faenera # uier fafasr fmaraenmal wmaa: SaT,
mea, fomerdt, I ofn gafen § frenfdai &
Wi & vt & e ® fafuw frareeara o
1750 T3t wfem e 3000 Rrenfdat @ i o &
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